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«Lwjwunwbh <wipwwbunnipub 2007 puwywih whunwywb pnupth dwuhb» <4
optklph 7-nn. hnnJwény pjntobuinwhl Swiuubph gnpéwrtwywb nwuwlwngiwb 05 fudph 01

GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

{wybiyws N 1

Unyntuwy N 05-01

wyn pYnLd pun dpwgntinh

Qnpdwnhn hzfuwlnepiua,
wEwnwywb ywrwywpiwb
hwlpwwbunwywb L
nwpwépwht ywrwywpdwb
dwnahbbeph ywhwwOnid

QOnwikOp
tGpwiudph wjn pYntd puwn
Znnywsh woywbniip gniwnp z YuwinwinnnGtinh
(hwqun & S5
nnwadtpny) g % :
=] Sz
g v35
E] v 3z
£ 23
3
1 2 3
puAUUGLL DUuUGN 844 105,4 844 105,4 844 105,4
wyn pynLd
LUuBUSHhY SUUGN 838 746,4 838 746,4 838 746,4
wjn pyntd
nESU4UL UUrunuvueNh, "MULS GuldUuuu 624 509,7 624 509,7 624 509,7
A3NtRGSU3PL <hULUNYLENP UCluuSNILENh
uchuusudunr
wjn pynLd
- pwnuwpwghwwb dwewinnbtph wywpglwwnpdwb $nin 26 782,0 26 782,0 26 782,0
LUuLBUShY SPULUDENSLEN 110 073,8 110 073,8 110 073,8
wjn pyntd
Uj| pbpwghy tnpwludtbpuinwihb yswnbbp 110 073,8 110 073,8 110 073,8
wjn pyntd
- ywnpuwnhp unghwjwywb wwwhnjwgpnipgwb y&wnpbkn 110 073,8 110 073,8 110 073,8
unPruuvLeLENh QLUUL 64 ounu3nt@E3NtuueNrh 104 162,9 104 162,9 104 162,9
Jsuruuu oukuutenN
wjn pyntd
Uwpwbplbbph d6rpptpnid 6497,4 64974 6497,4
wjn pynd
Qnup, gpwubuywht wwpwbpbtn L Ojnpkn 64974 6 497,4 64974
wjn pyntd
- gpwubbjwywiht wwpwbpbtn L Gnuebn 64974 6 497,4 64974
Anpéninnuibtbp L wrwinnwywb ninlnpnipintbbtp 12 150,0 12 150,0 12 150,0
Spwluwnpuwihb SwewntpnLtGbEph y&wnbbp 24 000,0 24 000,0 24 000,0

Unyniuwly 05-01 (pOnwdklp 2 £9)



6.1

1 2 3

Lwuwh Swewjnipntbbtph J&wnbtn 307442 307442 30744,2
Undntbw) swewjniintGbbnh y&wnbkn 23 308,3 23 308,3 23 308,3
wjn pyntd

ElGYwnpwtGEpghwih, Jwebihph L 9Grnigdwl dwiuubn 21 848,6 21 848,6 21 848,6
2nantn- Ynninneg ogindbint Jwndh yAwnowb dwfuubn 667,1 667,1 667,1
W yndntGwy Swiuubin 792,6 792,6 792,6
Uy, Swfuukn 7 463,0 7 463,0 7 463,0
wjn pyntd

Qnijph Jundwlwinipub dwiuubp 563,0 563,0 563,0
wjn pyntd

- 260pLnh, 2hbnLpntbbeph L pGwywnwbGbph 563,0 563,0 563,0
Jwpdwywintpjwb dwfuukn

Lbpywjwgnigswywb swiuubp 1500,0 1 500,0 1500,0
Uj| swrwnipintGbbph dbrppbndwl wiuubp 5400,0 5400,0 5400,0
LUuMhSUL SuuGeP 5359,0 5359,0 5359,0
wjn pyntd

uunhsulL veNPNPNFULENh SUlluGN 5359,0 5 359,0 5359,0
wjn pyntd

LUUMNhSUL U4ShyuGNh Q6NLAGNUUL CUUGH 5359,0 5359,0 5359,0
wyn pyntd

Uwppbph L uwppwynpniibbph dGrppbpdwb dwiuubn 5359,0 5359,0 5359,0

Unyniuwly 05-01 (pOnwdklp 2 £9)
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opklph 7-nn. hnnywény pntobuinwhl Swfuutph gnpéwrltwywl nwuwywnagiwb 05 fudph 02

GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

{wybiyws N 1

Unynituwy N 05-02

Unyniuwly 05-02 (pOnwdklp 3 £9)

wyn pYntd puwn dpwantiph

Sniptpyniyngh pd2ywywib
oqUnipwlb gény wewnwywl
wwwnytn

UnhpwihG L wy hGdGLghn(
hhywlnnipntbbsph
pd2ywywl oglnipjwb gény
wEwnwywlb wwwybp

Utrwywb swbwwwnphny
thnfuwbgynn
hhywlnnipintbbsph
pd24wywb oqlnipwib
gény wEnwywl ywuwnybn

<ngblywl hhqwlnbknh
pd2ywywl ogbnipjwl L
fubwdiph gény wbunwywb
wwunytn

QOnwikOp
Ghpwiuiph wyn pYnLd puwn wyn pYnLd puwn wyn pYnLd puwn wyn pYnd puwn
<nnwsh wodwlnidp gnidwpp — Jwuwnwnnnltph — Ywuwnwnnnbbph — Jwuwwpnnlbph — JwuwwpnnlObph
nnuwuatpnd) 3 33 3 EE 3 33 3 EE
5 e85 & e85 & g5 & g5
[} c =z [} c =z [} c =z o] c
3 w3 = w3 = w3t = e
El v 32 El v 32 El v 32 El v 32
5 23 5 23 5 23 5 23
a g % a 3 % a 3 % a g ‘S—
c 3 c 35 e 35 e 3
3 3 3 3
1 3 5 7 9
puAUUGBLL DUuUGN 16 877 667,6| 1054 152,0 1054 152,0 654 865,0 654 865,0| 77 876,0 77 876,0| 1398 450,9 1398 450,9
wjn pynLd
QUBUSHhY CUUGN 16 087 667,6| 1054 152,0 1054 152,0 654 865,0 654 865,0| 77 876,0 77 876,0| 1398 450,9 1398 450,9
wjn pyntd
unPruuveLENh QLUUL 64 ounu3nt@3nNtuueNrh 16 087 667,6| 1054 152,0 1054 152,0 654 865,0 654 865,0| 77 876,0 77 876,0| 1398 450,9 1398 450,9
Jsuruuu oukluutenN
wjn pyntd
Uy, Swfuukn 16 087 667,6| 1054 152,0 1054 152,0 654 865,0 654 865,0| 77 876,0 77 876,0| 1398 450,9 1398 450,9
wjn pyntd
Uy, SwrwjntpintGbbph d6rppbndwl dwiuukn 16 087 667,6| 1054 152,0 1054 152,0 654 865,0 654 865,0| 77 876,0 77 876,0| 1398 450,9 1398 450,9
LunhsulL cuuer 790 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
yunhsulL vNrNantuLENh culuueN 790 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
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«Lwjwunwbh <wipwwbunnigjub 2007 puwywih whwnwywb pnueth dwuhb» <<
opklph 7-nn. hnnywény pntobuinwhl Swfuutph gnpéwrltwywl nwuwywnagiwb 05 fudph 02

GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

Unyniuwly 05-02 (pOnwdklp 3 £9)

wyn pYnLd puwn dpwantiph

Cunwuw pdjwywb oglnipjub
gény wEnwywl ywuwybp

Luwnpyninghwywb
hhywbnGtnh pd2ywywi
oqUnLpjwb gény wEwnwywl
wwwinytn

UwlywpwndwghGtyninghwyw
pd2ywywb ogbnipjwb gény
wEunwywlb ywwnybin

Ubhbuinwaagbih pd2uywb
oqlntpjwl gény wEnwywb
wwunytp

wyn pYnLd puwn

wyn pYnLd puwn

wyn pYnLd puwn

wyn pYnLd puwn

<nnwsh wodwlnidp — Jwuwwnnnltph — Jwuwnwnnnbbph — Jwuwnwpnnlbnph — Jwuwwpnnlbph
& = & = & = & o
3 32 3 3= 3 3= 3 3=
5§ =5 5 2 5 =5 5 =&
cl cz cl cz cl cz <l cz
3 v3i§ = w3t = VEL = e
El v 32 El v 32 El v 32 El v 32
3 3 = 33 = 3 3 = 3 3
g NS > NS > NS > NS
37 3° 37 3°
10 11 12 13 14 15 16 17
puAUUGBLL DUuUGN 1277 880,5 1277 880,5( 102 661,2 102 661,2 2145 800,0 2145 800,0( 3231882,0 3231882,0
wjn pynLd
QUBUSHhY CUUGN 1277 880,5 1277 880,5( 102 661,2 102 661,2 2145 800,0 2145 800,0( 3231882,0 3231882,0
wjn pyntd
unPruuveLENh QLUUL 64 ounu3nt@3nNtuueNrh 1277 880,5 1277 880,5( 102 661,2 102 661,2 2145 800,0 2145 800,0( 3231882,0 3231882,0
Jsuruuu oukluutenN
wjn pyntd
Uy, Swfuukn 1277 880,5 1277 880,5( 102 661,2 102 661,2 2145 800,0 2145 800,0( 3231882,0 3231882,0
wjn pyntd
Uj| SwrwjnipntGbbph dGrppbndwl dwiuubp 1277 880,5 1277 880,5( 102 661,2 102 661,2 2145 800,0 2145 800,0( 3231882,0 3231882,0
LunhsulL cuuer 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
yunhsulL vNrNantuLENh culuueN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0




«Lwjwunwbh <wipwwbunnigjub 2007 puwywih whwnwywb pnueth dwuhb» <<
opklph 7-nn. hnnywény pntobuinwhl Swfuutph gnpéwrltwywl nwuwywnagiwb 05 fudph 02
GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

Unyniuwly 05-02 (pOnwdklp 3 £9)

28l

wyn pYntd puwn dpwanptiph
2npwynswihb L
Rlulnipb unghuwwujtu UhGsk 7 tnwpbyuwG GwiuwgnpwynswihG
wlwwwhny L hwunney
GpGluwbGnh pd2quywb Urnnowwwhwlywb opjyunbtnh wnwnhph wbdwog
fudptipnLd pGngnyywebbnhl
oqUnLpjw b gény wEinwywh hhdbwGnpngntd pd2ywywb oglnipwlb L
pd2ywywl oglnipjub gény
whnwywh wwandbn wwuwnybp thnnpdwplbOntpwb gény
wEwnwywl ywwnybn
wyn pYnLd puwn wyn pYnLd puwn wjn pYnid puwn wjn pYnLd puwn
<nnwsh wodwlnidp — Jwuwwnnnltph — Ywuwnwnnnbbph — JwuwnwpnnlObph — Ywuwnwnpnnltph
é =] § = g § 3
B 22 2 ¥ 2 32| 3 2 22
S g & S zg S se| Et S 1=
Lo
3 v3i§ = w3 2 | 25| ©5 = w35
3 V52 3 v3d 3 | Y2 55| 3 V52
3 3 3
£ 2.3 5 2.3 £ 23 g | & 23
; 22| @ x| 8| 3| ¥s| s £3
§ S 5 S 3s § S
18 19 20 21 22 23 24 25 26
puAUUGBLL DUuUGN 3073 950,0 3073950,0( 2147 310,0 2147 310,0| 790 000,0| 618 000,0( 172 000,0| 922 840,0 922 840,0
wjn pynLd
QUBUSHhY CUUGN 3073 950,0 3073950,0| 2147 310,0 2147 310,0 0,0 0,0 0,0| 922 840,0 922 840,0
wjn pyntd
unPruuveLENh QLUUL 64 ounu3nt@3nNtuueNrh 3073 950,0 3073950,0( 2147 310,0 2147 310,0 0,0 0,0 0,0| 922 840,0 922 840,0
Jsuruuu oukluutenN
wjn pyntd
Uy, Swfuukn 3073 950,0 3073950,0( 2147 310,0 2147 310,0 0,0 0,0 0,0| 922 840,0 922 840,0
wjn pyntd
Uy, SwrwjntpintGbbph d6rppbndwl dwiuukn 3073 950,0 3073950,0| 2147 310,0 2147 310,0 0,0 0,0 0,0| 922 840,0 922 840,0
LunhsulL cuuer 0,0 0,0 0,0 0,0| 790000,0| 618 000,0| 172 000,0 0,0 0,0
wjn pyntd
yunhsulL vNrNantuLENh culuueN 0,0 0,0 0,0 0,0| 790000,0| 618 000,0| 172 000,0 0,0 0,0
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optlph 7-nn. hnnywény pntobuinwhlb swfuutph gnpéwrOwywl nwuwywngiwb 05 fuiph 03

GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

{wybywdé N 1
Unyntuwy N 05-03

Unyniuwly 05-03 (pOnwdklp 2 £9)

wyn pyntd puwn dpwanptiph

POwysnLpywl wrnnoNnLpjwl
wrwowhb wwhwywadiwb
qény wEnwywb ywwnybn

Uwulwghwnwgywé
pd24wywb oglnipwb gény
wtwnwywl ywwnybn

<bunnhwihgh wogywgdwb
qény wEwnwywb ywwnybn

QOnwukOp
Glpwiudph
<nnywéh woywaniip gnLiwpp wyn pYnLd puwn wyn pYNLd puwn wyr pYnLd puwn
(hwquin = Ywunwpnnltph z Ywunwpnnbtiph = YwwnwpnnOtiph
npwubbpny) = =3 =3
3 \i = 3 \i = 3 ‘3 S
= w3E = w3E = v3E
3 v 3 3 v 3 3 v 3
3 = 3 =3 3 =3
= 3 3 = 3 3 = 3 3
(o] (o] N
a £= a £= a c=
i e e
3 3 3
1 3 5 7
CLAUUELO SUUGP 16 766 318,6| 9891 169,6 9891 169,6| 2283 145,6 2283 145,6| 969 408,0 969 408,0
wyn pynLd
0LBUShY BURUGN 16 723 318,6] 9891 169,6 9891 169,6| 2283 145,6 2283 145,6| 969 408,0 969 408,0
wjn pyntd
umPuLeLENrh QLUUL 64 ounu3nt@3NtLLErh 16 723 318,6| 9891 169,6 9891 169,6| 2283 1456 2283 145,6| 969 408,0 969 408,0
JsuNruuL ouuus,
wjn pyntd
Wy dwiuubn 16 723 318,6| 9891 169,6 9891 169,6| 2283 1456 2283 145,6| 969 408,0 969 408,0
wjn pyntd
Uy Swewinipyntbbtph dkrppGpdwh dwiuutn 16 723 318,6] 9891 169,6 9891 169,6| 2283 145,6 2283 145,6| 969 408,0 969 408,0
LUMhSUL SUuUGP 43000,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
LuUMhSUL LGNPAPAFULENh DULUGN 3000,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
LUMhSUL U4ShULENh 96NLRENUUL DUUGN 3000,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
Uuwnptph L uwppwynpniibtph dGrpptndwb dwiuubp 3000,0 0,0 0,0 0,0 0,0 0,0 0,0
LuMhSUL LNPNGNFULENh DUUGN 40 000,0 0,0 0,0 0,0 0,0 0,0 0,0
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optlph 7-nn. hnnywény pntobuinwhlb swfuutph gnpéwrOwywl nwuwywngiwb 05 fuiph 03
GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

Unyniuwly 05-03 (pOnwdklp 2 £9)

wjn pYntd puwn dpwgntinh

Uwnpunwihb pdynigub L
hwlwnnwhGquwihh huynnnipjwb 2npwynswiha L
wwwhnyiwb Gwwwnwyny Owuwgnpwynswihb tnwphph
Uwlywpwpdwghbtyninghwyw Wbl wewlgnipnl Urnnowwwhwywb wldwilig pdrlwlwl
pd24wywb oglnipwb gény opywinltph
whnWlWo wwinytn «Uwnpunwihb pdaynipuib L hhaGWGnPNgNLG oqUuntpjwlb L
hwywnnwhbgwiha huynnnipjwb thnndwplbOnipwb gény
hwlpwwtunwlwb yehunpnby» wewnwywl wwwnybp
MNUY-hG
<nnywéh woywaniip wjn pYnLd puwn wjn pYnLd puwn wyr pYnLd puwn wyr pUnLd puwn
— Jwuwwpnnlbph — Jwuwwpnnlbph — Jwuwnwnpnnltph — Jwuwwpnnlbnph
& = & 3 = & - & =
2 22 2 S =3 2 ErE 2 22
s Ze S | €352 | 2 z S 2 g g
2 J5E g 583235 | g JEE 2 JSE
=] g 33 =] S25e235 =1 J 3 =] Y 33
3 35 3 Sec5s5<c¢c 3 3 c 3 35
= 3 = 23221955 = Q3 = 3
= %E = 3 A2 2 = 33 = %E
3 M 5 o 3
9 10 11 12 13 14 15
puAUUGBLL DUuUGN 1120 204,5 1120 204,5 41601,7 41601,7( 40000,0 40 000,0| 2420789,2 2420789,2
wyn pyntd
LUuBUSHhY SUUGN 1120 204,5 1120 204,5 38 601,7 38 601,7 0,0 0,0| 2420789,2 2420789,2
wjn pyntd
unPruuvLeLGEMNh ALUUL G4 ounu3nt@3NtuueNrh 1120 204,5 1120 204,5 38601,7 38 601,7 0,0 0,0| 2420789,2 2420789,2
J4suruuu oukluutenN
wjn pyntd
Uy, Swiuukn 1120 204,5 1120 204,5 38601,7 38 601,7 0,0 0,0| 2420789,2 2420789,2
wjn pyntd
Uy, Swrewjntpyntbbeph dGrppbndwl dwiuukn 1120 204,5 1120 204,5 38 601,7 38 601,7 0,0 0,0| 2420789,2 2420789,2
LUuMhSUL duuGeP 0,0 0,0 3000,0 3 000,0( 40 000,0 40 000,0 0,0 0,0
wjn pynd
uunhsulL veNPNPNFULENh SUlbuGN 0,0 0,0 3000,0 3000,0 0,0 0,0 0,0 0,0
wjn pyntd
LUuUMhSUL U4ShyuGNh Q6NLAGNUUL CUUGH 0,0 0,0 3000,0 3000,0 0,0 0,0 0,0 0,0
wjn pynd
Uuwnptph L uwppwynpniibtph dGrpptndwb dwiuubp 0,0 0,0 3000,0 3000,0 0,0 0,0 0,0 0,0
yunhsuL vnrNantuuNrh cuklbuGN 0,0 0,0 0,0 0,0| 40000,0 40 000,0 0,0 0,0
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optlph 7-nn. hnnywény pntobuinwhl Swfuutph gnpéwrlwywl nwuwywngiwb 05 fudph 04
bGpwludph dpwantinh gony hwunwngwé hwnlwgnuaGtph JEnewaniat puwn Unyntuwy N 05-04
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

wyn pYntd puwn dpwgnkinh
<hghtbhy L <wwnnty Junwbquiynp
hwywhwdiwdwnpwywhb Jwpwyltph
thnpdwghunwywb <hghtOhY-hwywhwiwswpwywih Yuluwpgbdwa
tUhongwrniilbph swrwntpwb gény wewnwywb wwuwnybp SwrwjnLpnLGbBph
hpwywlbwglwb gény abrpbpiwl gony
wewnwywl wwwnybp wewnwywl wwwnybp
QOnwikOp
Ghpwiuiph wyn pYnLd puwn wyn pYnLd puwn wyn pYnd puwn
<nnwsh wodwlnidp gnidwpp — Jwuwnwnnnltph — Jwuwwpnnlbph — JwuwwpnnlOtph
(hwquip = =3 =3
nnwdatnny) g 3 s g 3 s 25
] JSE 2 <SE ] <SE
3 = 3 = 3 =
5 23 5 23 5 23
3° 3° =
1 3 5 6
puAUUGBLL DUuUGN 2921994,9| 1632400,0 1632 400,0 250 000,0 250 000,0| 218 038,2 218 038,2
wjn pynLd
QUBUSHhY CUUGN 2626 149,0| 1632 400,0 1632 400,0 250 000,0 250 000,0( 218 038,2 218 038,2
wjn pyntd
unPruuveLENh QLUUL 64 ounu3nt@3nNtuueNrh 2626 149,0| 1632400,0 1632 400,0 250 000,0 250 000,0| 218 038,2 218 038,2
Jsuruuu oukluutenN
wjn pyntd
Uy, Swfuukn 2626 149,0| 1632400,0 1632 400,0 250 000,0 250 000,0| 218 038,2 218 038,2
wjn pyntd
Uy, SwrwjntpintGbbph d6rppbndwl dwiuukn 2626 149,0| 1632400,0 1632 400,0 250 000,0 250 000,0( 218 038,2 218 038,2
LunhsulL cuuer 295 845,9 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
yunhsulL veNPANPNFULENHh SUbUGN 256 540,2 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
LUUNhSUL U4ShyuGNh 26NLAGNUUL CUUGH 256 540,2 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uuwnptph L uwppwynpniibtph dGrpptndwb dwiuubp 137 837,7 0,0 0,0 0,0 0,0 0,0 0,0
Spwluwnpuwihb dhongltph dbrpptndwl swiuubp 511224 0,0 0,0 0,0 0,0 0,0 0,0
Uj wywinhybkiph dGrppbpdwl dwiuubkn 67 580,1 0,0 0,0 0,0 0,0 0,0 0,0
yunhsuL vnrNantuuNrh cuklbuGN 39 305,7 0,0 0,0 0,0 0,0 0,0 0,0
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optlph 7-nn. hnnywény pntobuinwhl Swfuutph gnpéwrlwywl nwuwywngiwb 05 fudph 04

GOpwfudph 6pwanptph gény hwuwnwunywé hwwnywgnidbbph ypéwanidb pun
Swfuutph nbnbuwghnwywl nwuwywngiwb hnnywébtph

Unyniuwly 05-04 (pOnwdklp 2 t9)

wn pynLd

puwn dpwigntiph

<wiwfuwphwihG pwbyh

{wiwpluwphwihb pwbyn

UhUW2hU4h it UputnwhwGowe wowgnt pup wowlgnipLIdR
hnwywbwgynn
wwjpwnh dnwagph gény | dwrwjnipwb dGrppEndwl hpwywbwgynn Bnst oh kin
wEwnwywl ywwnybp gony whnwywl wywwnytn | Brsbwaphwhb hwywanbint ¢ w%ﬂmfruwlﬁ;qn Lt
opuighn npwiwbnphwihb 6pwaghn
wyn pYnLd puwn wyn pYnLd puwn wyn pYnLd puwn wyn pYnid puwn
<nnwsh wodwlnidp — Jwuwnwnnnltph — Jwuwnwnnnlbph — Jwuwnwpnnbbph — JwuwwpnnlOtph
3 3= 3 3= 3 3= 3 3=
5 =% 5 =g 5 =E 5 o
cl c = cl c = 1 c = P c =
i vis | £ v3§ 2 v2§ i v3§
3 V32 3 V32 3 V32 3 v3IZ2
33 = 3 3 = 3 3 = 3 3
g NS > j=n=3 > NS > jn=3
3° = 3° =
9 10 11 12 13 14 15
puAUUGBLL DUuUGN 66 300,0 66 300,0| 58 000,0 58 000,0| 631533,0 631533,0] 65723,7 65 723,7
wjn pynLd
QUBUSHhY CUUGN 66 300,0 66 300,0| 58 000,0 58 000,0| 335687,1 335687,1| 65723,7 65 723,7
wyjn pyntd
unPruuveLENh QLUUL 64 ounu3nt@3nNtuueNrh 66 300,0 66 300,0| 58 000,0 58 000,0| 335687,1 335687,1| 65723,7 65 723,7
Jsuruuu oukluutenN
wyjn pyntd
Uy, Swfuukn 66 300,0 66 300,0| 58 000,0 58 000,0| 335687,1 335687,1| 65723,7 65 723,7
wjn pyntd
Uy, SwrwjntpintGbbph d6rppbndwl dwiuukn 66 300,0 66 300,0| 58 000,0 58 000,0| 335687,1 335687,1| 65723,7 65 723,7
LunhsulL cuuer 0,0 0,0 0,0 0,0| 295 845,9 295 845,9 0,0 0,0
wjn pyntd
yunhsulL veNPANPNFULENHh SUbUGN 0,0 0,0 0,0 0,0| 256 540,2 256 540,2 0,0 0,0
wjn pynd
LUUNhSUL U4ShyuGNh 26NLAGNUUL CUUGH 0,0 0,0 0,0 0,0| 256 540,2 256 540,2 0,0 0,0
wjn pyntd
Uuwnptph L uwppwynpniibtph dGrpptndwb dwiuubp 0,0 0,0 0,0 0,0 1378377 137 837,7 0,0 0,0
Spwluwnpuwihb dhongltph dbrpptndwl swiuubp 0,0 0,0 0,0 0,0 511224 51122,4 0,0 0,0
Uyl wywinhybbph d6rpptindwl dwiuubn 0,0 0,0 0,0 0,0 67580,1 67 580,1 0,0 0,0
yunhsuL vnrNantuuNrh cuklbuGN 0,0 0,0 0,0 0,0 39305,7 39 305,7 0,0 0,0
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{wybywdé N 1
Unyntuwy N 05-05

Unyniuwly 05-05 (pOnwdklp 4 £9)

w

=i

pYnLd puwn Spwgntiph

Lwiwfuwphwihb pwGyh

ULOunpnOwgywé Yungny Gnpwgntj wgwugglpjwdp
ULGunpnbwgywé Yungny nennpwjph dGrpptpnid pd2ywywl uwppwdnpnidbeph b hnwyuibwgynn
gnnéhpltph dGrpptnpnid UrnngwujwhuiyuG
hwdwywpgh
wnnhwywbwgiwb dnw
Db nnhwlwbwg nwahn
Glpwiudph
<nnywéh woywaniip gnLiwpp wjn pYnLd puwn wjn pynLd pun wjr pUnLd puwn
(hwquin = YwunwpnnGtph = Ywunwpnnltph = YwwnwpnnOtiph
nnwabtnnd) 5 S S S S =S
2 32 [3g85.1% 2| 2 22132 2| 2 33
S sz | S22 E.8]| 9 se | .51 S =
S c C coc® c D E‘ S c C c E‘ S c C
5 v3§5 338e| 3&s 5 v35 35S 5 v35
% v 32 £33 - o 3 =l \/3'2 = o 3 =l \/3'2
3 3822 =y 3 3 3¢5 3 3
= 23 =225 23 = 33 23 = 323
= g2 | 3233|375 S g2 | 575 = 23
£3 | 2537|323 2 £3 |3 2 £3
3 3 NV 3 3 3
1 3 4 5 7 8 10
puAUUGBLL DUuUGN 8552 095,7| 2568 000,0] 2459 300,0 26 800,0| 81900,0/ 30527518 29600250 92726,8| 2737 261,8 27372618
wyn pynLd
LUuBUSHhY SUUGN 3107 611,1| 2568 000,0| 2459 300,0 26 800,0| 81900,0 0,0 0,0 0,0/ 427329,0 427 329,0
wjn pyntd
unPruuvLeLGEMNh ALUUL G4 ounu3nt@3NtuueNrh 3107 611,1] 2568 000,0( 2459 300,0 26 800,0| 81900,0 0,0 0,0 0,0/ 427329,0 427 329,0
J4suruuu oukluutenN
wjn pyntd
Uwpwbplbbph d6rpptpnd 2582 000,0| 2568 000,0] 2459 300,0 26 800,0| 81900,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Qnyp, gpuubljuywiht wwpwbpbtp L GnLetp 14 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
- gnijp L uwppwynpnidltn 14 000,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
NEnnpwjp L yhpwwwwihb Onipbn 2568 000,0| 2568 000,0| 2459 300,0 26 800,0| 81900,0 0,0 0,0 0,0 0,0 0,0
Uy, Swiuubn 525611,1 0,0 0,0 0,0 0,0 0,0 0,0 0,0/ 427329,0 427 329,0
wjn pyntd
Uy, Swrewjnipintbbeph dGrppbndwl dwiuutn 525611,1 0,0 0,0 0,0 0,0 0,0 0,0 0,0/ 427329,0 427 329,0
LunhsulL cuuer 5444 4846 0,0 0,0 0,0 0,0] 3052751,8[ 296002501 92726,8| 2309 932,8 2309932,8
wjn pynd
yunhsulL veNANPNFULENHh SUlluGN 4 866 561,7 0,0 0,0 0,0 0,0] 3052751,8( 2960025,0| 92726,8| 1742409,9 1742 409,9
wjn pynd
LUuNhSUL chuuruNrnkE3uL ouuutnN 107 528,4 0,0 0,0 0,0 0,0 0,0 0,0 0,0 65 152,5 65 152,5
Luluadudcsuansuyuu oukuueN 19 670,7 0,0 0,0 0,0 0,0 0,0 0,0 0,0 19 670,7 19 670,7




881

Unyniuwly 05-05 (pOnwdklp 4 £9)

1 6 7 8 9 10
YuMhSUL U4ShyuttNh Q6NLRGNUUL OUuUGN 4739 362,6 0,0 0,0 0,0 0,0 3052751,8[ 2960 025,01 92726,8| 1657 586,7 1657 586,7
wyn pyntd
Uwppbph L uwppwynpniibbph dGrppbpdwb dwiuubn 4 654 539,4 0,0 0,0 0,0 0,01 3052751,8( 2960 025,0| 92726,8( 1601787,6 1601787,6
Uj; wywinhybbph dGrppbniwb dwiuukn 84 823,2 0,0 0,0 0,0 0,0 0,0 0,0 0,0 55 799,1 55 799,1
LuMhSUL LNrNanNtuLuGNrh cUUGN 577 922,9 0,0 0,0 0,0 0,0 0,0 0,0 0,0 567 522,9 567 522,9
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wjn pyntd puwn dpwigntiph
Uté Pphuinwbhwih L {niuhuwihb
<wiwpfuwnhwihb pwbyh hriwlnhwih Uhwgjwy Bwgwynpnipjw CuiwsluwphwihG pwiG
wowygnipjwdp hpwywbwgynn ynnihg <wjwuwnwbh <wlpwwbwnnigubp ufgjwugmrirwdpp uh
Urnnowwwhwywb hwiwywngh $hbwbuwywb oglnipwb Ywpagny hpwlwGwgynn {wwunwah
wnnhwywbwgdwb dnwgnnid npwiwnnywé Gdhpwpbnpnipwb unghuwwlwl GEpnpnLiGeph
Awuwnbwywb npwdwGnphwihG uhonglbph hwyyht hpwywbwgynn << hhaGwnpwsh Sppnpn spwghp
Gnwahp QGnwnpntOhph L Swyntph dwpgbpnid
dwpquyhl qupqugdwl pwghn
<nnywéh woywaniip wjn pYnLd puwn wjn pynLd pun wyn pYntd puwn
— Jwuwnwpnnbbph — Jwuwwpnnlbph — Jwuwnwnpnnltph
: 3% : = 3 : 33
5 ? z 83 = g < g 83 ? g
o = 1< c = cl =
g v5SE 3 &g £8 = 53
=) g 33 E= 3B 3B = =5
3 35 3 =3 a3 3 33
= 323 = 5T v g = &3
< €3 “ v 3 E “ 3 3
3° v M
11 12 13 14 15 16 17
puAUUGBLL DUuUGN 98 282,1 98 282,1 24 400,0 5400,0 19000,0| 71400,0 71400,0
wyn pyntd
LUuBUSHhY SUUGN 98 282,1 98 282,1 14 000,0 0,0 14 000,0 0,0 0,0
wyn pyntd
unPruuvLeLGEMNh ALUUL G4 ounu3nt@3NtuueNrh 98 282,1 98 282,1 14 000,0 0,0 14 000,0 0,0 0,0
J4suruuu oukluutenN
wyjn pyntd
Uwpwbplbbph d6rpptpnd 0,0 0,0 14 000,0 0,0 14 000,0 0,0 0,0
wyjn pyntd
Qnyp, gpuubljuywiht wwpwbpbtp L GnLetp 0,0 0,0 14 000,0 0,0 14 000,0 0,0 0,0
wjn pyntd
- gnijp L uwppwynpnidltn 0,0 0,0 14 000,0 0,0 14 000,0 0,0 0,0
NGnnpwip L yhpwlwwwihb Ojneetn 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy, Swiuubn 98 282,1 98 282,1 0,0 0,0 0,0 0,0 0,0
wyjn pyntd
Uy, Swrewjnipintbbeph dGrppbndwl dwiuutn 98 282,1 98 282,1 0,0 0,0 0,0 0,0 0,0
LunhsulL cuuer 0,0 0,0 10 400,0 5400,0 5000,0( 71400,0 71400,0
wjn pynd
yunhsulL veNANPNFULENHh SUlluGN 0,0 0,0 0,0 0,0 0,0 71400,0 71400,0
wjn pynd
LUuNhSUL chuuruNrnkE3uL ouuutnN 0,0 0,0 0,0 0,0 0,0 423759 42 375,9
Luluadudcsuansuyuu oukuueN 0,0 0,0 0,0 0,0 0,0 0,0 0,0




061

Unyniuwly 05-05 (pOnwdklp 4 £9)

11 12 13 14 15 16 17
LUUMhSUL U4ShyuGNh Q6NLAGNUUL CUUGH 0,0 0,0 0,0 0,0 0,0 29024,1 29 024,1
wjn pynLd
Uuwnptph L uwppwynpniibtph dGrpptndwb dwiuubp 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uj| wywinhybkinph dGrpptpdwl dwiuubkn 0,0 0,0 0,0 0,0 0,0 29024,1 29 024,1
yunhsuL vNrNantuLENh culuueN 0,0 0,0 10 400,0 5400,0 5000,0 0,0 0,0
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{wybywdé N 1
Unynituwy N 05-06

Unyniuwly 05-06 (pOnwdklp 2 t9)

wyn pYnLd puwn dpwantiph

{wlpwwtwnnipintbhg nnipu

Ndwpwiwwngkih

Muwpwlwwnnihwlywa,

pnidiwl ninGgpywd wfuwinnpnahs Urnnowwwhwywl wy nuunwpd?yuywi b
hhdwnbGph hGunwgnunipnLGbtph SwrwjnipnLtbbtph gény gblGwnhy SwrwjnieynLbGbEnh
Awlwwwnhwdéwfuuh wbglwgdwb gény wewnwywl wwwnybp Adtrpptndwl qony
thnfuhwiwinnigned wEnwywb ywwnybn wEtwnwywlb ywwnybin
QOnwikOp
tGpwiudph wyn pYntd pun wyn pYntd pun wyn pYntd pun wjn pYntd puwn
Znnywih waywaniip gnLawnp z Jwuwwpnnlbph z Jwuwwpnnlbph z Ywuwnwnpnnltph z Jwuwwpnnlbph
(hwqun % =] % =] % =] % =]
nnwdtpnd) | 2 32 2 32 2 32 2 32
E £2 = £2 = £2 = £
B vi3§ B vi3§ B v3§ B vi3§
“g v 32 “g v 32 “g v 32 “g v 32
= 33 = 33 = 33 2 33
a g2 a == e &5 S &5
&3 £3 €3 e
3 3 3 3
1 2 3 4 5 6 7 8 9
puAUUGLL DUuUGN 1611646,3| 34 500,0 34 500,0( 350 000,0 350 000,0| 533 001,5 533 001,5| 314 037,0 314 037,0
wyn pynLd
LUuBUSHhY SUUGN 1609 146,3| 34 500,0 34 500,0| 350 000,0 350 000,0| 533 001,5 533 001,5 311537,0 311 537,0
wjn pyntd
QUBUShY SPULUDENSLEN 43646,8| 34 500,0 34 500,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Unpwpenwybtn 9146,8 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 34 500,0]/ 34500,0 34 500,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynLd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 34 500,0( 34500,0 34 500,0 0,0 0,0 0,0 0,0 0,0 0,0
unPruuvLeLGEMNh ALUUL G4 ounu3nt@3NtuueNrh 1565 499,5 0,0 0,0 350 000,0 350 000,0| 533 001,5 533 001,5| 311537,0 311 537,0
Jysunruuu oukuuenN
wjn pynd
Uj| Swfuubn 1565 499,5 0,0 0,0 350 000,0 350 000,0| 533 001,5 533 001,5| 311537,0 311 537,0
wjn pyntd
Uy, SwrwjntpyntGGbph d6rppbndwl dwiuutn 1565 499,5 0,0 0,0 350 000,0 350 000,0| 533 001,5 533 001,5| 311537,0 311 537,0
LunhsulL cuuer 2500,0 0,0 0,0 0,0 0,0 0,0 0,0 2500,0 2500,0
wjn pynd
yunhsulL veNANPNFULENHh SUlluGN 2500,0 0,0 0,0 0,0 0,0 0,0 0,0 2500,0 2500,0
wjn pyntd
LUUNhSUL U4ShyuGNh 26NLAGNUUL CUUGH 2500,0 0,0 0,0 0,0 0,0 0,0 0,0 2500,0 2500,0
wjn pyntd
Uwnptph L uwppwynpniibbph drpptpdwl swiuubn 2500,0 0,0 0,0 0,0 0,0 0,0 0,0 2500,0 2500,0
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wyn pYnLd puwn dpwanptiph

Unwb hwywpwagnpdwb b
nnpwb wrbsynn
SwrwjnipnLGbtph
adbrpptndwl qony
wGwnwywl ywwnybn

NEnwgnnpdwywb 2nLywih
YubnOwywnpgiwl L npwb
wrlOsynn Swewjnieintbbtph
gony wEinwywl ywwnykn

Ofubint nbd wwpwnh
wEwnwywb épwaghn

Pnidwbdlwywadh
Jwulwghunwgnty,
wnntOwywywb ntunigned b
JGpwwwwnpwuwnnid

wjn pYntd puwn wyn pYntd puwn wjn pYntd puwn wjn pYntd pun
Znnywih waywaniip z Jwuwnwpnnbbph z Ywuwnwnpnnltph = Jwuwwpnnlbph = Jwuwwpnnlbph

g = 53 =] & 5 =

2 22 2 22 2 £3 2 2

= s | 2 £ g = 32 2 £ g

= e = e 3 E 3 e

E M-} T V332 E £3 3 v3Eg

= 3 3 = 3 3 = 3 = 33

S 23 S 23 2 oS 2 23

d c 3 d c 3 ad ¥ 3 ad c 3

e 3 3 e 3
3 3 3

10 11 12 13 14 15 16 17
puAUUGLL DUuUGN 170 948,0 170 948,0( 19 062,4 19 062,4| 100 000,0 100 000,0( 90097,4 90 097,4
wyn pyntd
LUuBUSHhY SUUGN 170 948,0 170 948,0( 19 062,4 19 062,4| 100 000,0 100 000,0( 90097,4 90 097,4
wjn pyntd
QUBUShY SPULUDENSLEN 0,0 0,0 0,0 0,0 0,0 0,0 9 146,8 9 146,8
wyn pyntd
Unpwpenwybtn 0,0 0,0 0,0 0,0 0,0 0,0 9146,8 9146,8
Uy pbpwghy nnpwbudpbpuinwihlt y&wnbtn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wyn pyntd
- pOpwghy Gepphb wy tnpwbudbpunwiht y&wnpokn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
unPruuvLeLGEMNh ALUUL G4 ounu3nt@3NtuueNrh 170 948,0 170 948,0( 19 062,4 19 062,4| 100 000,0 100 000,0( 80 950,6 80 950,6
Jysunruuu oukuuenN
wyn pyntd
Uj| Swfuubn 170 948,0 170 948,0( 19 062,4 19 062,4] 100 000,0 100 000,0( 80 950,6 80 950,6
wjn pyntd
Uy, SwrwjntpyntGGbph d6rppbndwl dwiuutn 170 948,0 170 948,0( 19 062,4 19 062,4| 100 000,0 100 000,0( 80 950,6 80 950,6
LunhsulL cuuer 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pynd
yunhsulL veNANPNFULENHh SUlluGN 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
LUUNhSUL U4ShyuGNh 26NLAGNUUL CUUGH 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0
wjn pyntd
Uwnptph L uwppwynpniibbph drpptpdwl swiuubn 0,0 0,0 0,0 0,0 0,0 0,0 0,0 0,0




